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Plimpton 322 (Mesopotamia, 1800 BCE)

Rhind Papyrus (Egypt, 1550 BCE)







































































































Shoty

Suan Pan Soroban


Incan YupanaRoman abacus


























































































































Antikythera Mechanism

Heron of Alexandria’s programmable cart





























































































































Su Song’s “cosmic 
engine” (1088CE)

Strasbourg astronomical clock 
(16th C.) 

Computus tables (12th C. 
Sweden)


























































































































Automatic carillon (15th C.)

Utrecht Domtoren

automatic carillon (1975)






























































Leibniz 1684

(also Newton 1687)


























































































































Jacquard loom (1804)




























Babbage difference engine

(designed 1822)

Babbage analytical engine

(partially designed by 1877)





Zuse Z1 (1936–38)

One of Zuse’s

mechanical relays
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